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1 MEHHEHT6 AVA BB EP 6 V1L 0 = 1 8000 8000

2 PR 6 ML AVA AX-F100N = 1 5000 5000

3 O4K B Eif R A AL AVA AE-U7NP & 1 8000 8000

4 SR UL SR A b AR A AVA T 4K H R 1 2 50 R BRACFR SR 1 V3. 0 = 1 58000 58000

5 AT BRERFEML AVA 1TS-3000 G 1 12000 12000

6 AT 2 BE R i A FE 1 AVA T AT (% RRER IR H0H0 20 T Ab B3 V2. 0 &= 1 8000 8000

7 4K Z G BHEHL AVA_ AX-CI2PUN a | s 2000 10000 ?ﬁﬁ
8 4K BN E BB A AVA i iR S AR A B AR V2. 0 =3 5 4000 20000 fﬁi
9 SR il TR AVA KP-8P3A A 1 1000 1000 g iEE[[
10 AL A AVA TAM-GA60 = 1 6000 6000 S
11 B AL B 5 DTSR AVA B 4ib 5 Dy J8CE SR AT V2. 0 = 1 2000 2000

12 Rl 371 2 T R AVA AM800 & 3 1500 4500

13 ToL 1 4] AVA GTS-968 Xt 1 2000 2000

14 AR AE AVA CS-305 Xt 1 2000 2000

15 PR L B AVA RY-8+ & 1 1500 1500

16 SHEHE AVA DCP-1000 = 1 3000 3000

17 BERR 751k BGS6EF 5 2 18000 36000




18 WA E & 7k SC06 5 2 800 1600
19 Heevta 75k TS05 A 1 6000 6000
20 WA 5 4 18 % R201T06 = 1 260 260
21 AR 25 £ 18 3. 5MM = 1 160 160
22 HUAE WA 420 A 1 2000 2000
23 it L % e A = ROE 5 1 5000 5000
Z 5 HLADRE MR B R &
1 BEHLE TG AVA B E S E IS VL0 = 1 8000 8000
2 BIRT G T AVA AX-F100N = 1 5000 5000
3 EE R AL AVA AE-A7NP & 1 8000 8000
4 AR AL B A AVA 2 5 RE AR % 5 T A b B A V3. 1 = 1 28000 28000
5 AT B e FRER AL BE SR A AVA BT AT 8 RERIER 2508 40 B AL B 3K V2. 0 = 1 8000 8000
6 A AR AL AVA AX-C22PNA & 5 2000 10000
7 FEE TGN AT R R PRER RS 1 AVA JEF AT (0% AR BREF AR AT V1. 0 = 5 3000 15000
8 SR Al THI AR AVA KP-8P3A A 1 1000 1000
9 B A B A AVA TAM-GAGO f 1 6000 6000
10 HAAL PR 5 Dy s AT AVA T 5AL LS DS B A V2. 0 z 1 2000 2000
11 R 371 52 5 JX AVA AM800 & 3 1500 4500
12 ToE 1 5 AVA GTS-968 = 1 2000 2000
13 QLN AVA CS-305 Xt 1 2000 2000
14 FEL Y5 P AVA RY-8+ = 1 1500 1500
SRR G AVA DCP-1000 5 1 3000 3000
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1 W 3 T B POE 5| 100 80 8000
2 W i B RE ] P 120 240 28800
3 I1 R AR B RE 7| 100 140 14000
4 SR T EEN = ROE Tl 1 6000 6000
5 A = ROE = 28 600 16800
6 BIES = ROE S 4 1000 4000
7 (54 = ROE 5 1 4500 4500
8 B[] 35 R I = ROE 5 1 3300 3300
9 WLEE = HL AL #3155 Vidda 65VIK-R & 2 2500 5000
10 TS 75 A AT CETROE A = e Tl 2 3500 7000
11 PCRIE.CUNTIESS B RE ] T 1 4000 4000
12 LED T KJ# 48 FL*60%60 = 60 100 6000
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A LRI RS RS SN A 8L DR AR IES T E .

2. LR ONERE AT, NS DI

3. BN I H SEBRIH S, SRrh L, I H SRR EORANE K] B A AT
4. RABABRTLLEAT NG BARBCE S BN R IR S 7e 4, OIS 58 4 (%0 I e B VP AR .
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